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PARAMETERS:

VOoUuT=1.8

Steady_State = 0
I0UT =3
VIN =12
LDOIOUT = 200m

TPS563252 + TPS709 Switchover Waveforms

v V1P8_A 1.200mV]
SW 11 R3
ut s | 200m VXl 51
1 2 =
VN sw ::Z;C—R St&sn;n State*I c
Vi=0 ‘ i 6 FB = {Steady_State i
¥ EN FB 41.6 R4 Cc4
—C1 =—=C2 =—=2¢C3 V2=33 3 4 21k - C=22u
10u 10u 0.4u  TD=4m D1 GND PG - ESR=2m
TR = 10u c10 R6 10K ESL = 0.6n
TF = 10u 10n TPS563252DRL_TRANS ) IC = {Steady_State*VOUT}
PW = 11m 5Vde ==
PER = IC = {Steady_State*VIN} E R5 e
10K 1.200mV]
GND
=0
B
U2
' N our |4 T
o - R N fer
) 2.2u I = {LDOIOUT} 11
P c1 o 12 = {IOUT}
. 1u Z TD =6m -
EN o TR = 10u
TPS70918 o =0 oy
?0 = 10k PER = =
=0
-0 =0
A
[Tl
<Title>
[Size Document Number Rev
A <Doc> <Re\Cad
4

of

Date: Wednesday, June 19, 2024 [Sheet 1
2 I




